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PHILOSOPHY

{Honours ]
| PAPER -1V
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable -

llustrate the answers wherever necessary
[NEW SYLLABUS ]

[ Long Answer Type Questions ]
Answer any two of the following, taking

at least one from each Group: ~ 15x2
GROUP - A |
1. (a) Whena proposition is said to have "existential
import" ?
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(2)

(b) Do all categoricai propositions have
existential import ?

(c¢) Ifwe acceptthe Boolean interpretation of

categorical propositions then only one
relation of traditional square of opposition
stands. Explain. . 3+5+7

2. (a) Whatis truth function compound statement ?

(b) Define [with the help of defining truth table]
different types of truth functional compound
statement.

(¢) Give an example of non-truth functional
compound statement. 3+10+2

3. Explain with concrete example the different
types of syllogism. 15

GROUP —~ B

4. 'What are the criteria used in judging acceptability
of a hypothesis ? Explain. 15
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Explain and examine, after Copi, Mill's méthod
of Difference. 7+8

Define argument by analogy. Explain with the
criteria for appraising an analogical argument. 3+12

{ Semi-Long Answer Type Questions ]

Answer any five questions, taking at least
two from each Group : - 8x3$§

GROUP —A

(a) Reduce the following sentences to standard
form of categorical propositions and mention
their quality and quantity : o 2x2
(i) He laughs whenever he is reminded of

his loss. |

(ii) Al are not just that seem so.

(b) Express the following in the Boolean
notation and symbolize them by mean of venn
diagram: | 2 %2

(i) There are no poor doctors.

(i) Only non-s are non-p.
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8. Use veen diagram to test the validity of the
following : 4+4

(@) All Mortal are imperfect beings, and no

humans are immortals, hence it follows that
all perfect beings are non-human.

() No one present is out of work all members
are present. Hence all members are employed.

9. (a) AccordingtoBoolean interpretation conversion
by limitation is not valid. Explain. 4

(b) Distinguish between inclusive and exclusive
seme of the word ‘or'. 4

10. (a) Given that 'some poets are philosophers' is
true, what may be inferred about the truth
value of the following propositions : Z+ 2

(i) Allnon-philosophers are poets.

(i) Some non-poets are philosophers.

(b) Explain with example pure hypothetical
syllogism. 4
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11. Expflain the different senses in which the word
'cause’ is used in logic. 8

GROUP - B

12. Construct the formal proof of validity (any two)4:
| +4

(/) Hume was sceptic, but Locke was not. So
every one is either sceptic or not a sceptic.

(if) (3x)(Bx-Dx)
(x) (Dx > Cx)/ . (3x) (Cx - Bx)

(iif) (Zv A) v B
~Al . ZvB

13. Translate the following using quantifiers,
individuals, variables etc. : ‘ 2x4

(a) Oranges are sweet if they are ripe. |
(b) This flower is red.

(c) A book which is interesting, is neither
impopular nor rejected.

(d) Nothing is both safe and exciting.
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14. Prove the invalidity of the following : 4x2

() (3x)(Bx-~Cx)
(x){Dx o~ Cx)/ .(x) (Dx > Bx)

(if) Some physians are quacks, some quacks are
not responsible. Therefore some physicians
are not responsibie.

15. (a) Whatis the probability of getting at least one
head in three tosses of a coin ? 4

(b) What is the probability of rolling three dice
so that the total number of points that appear
on their top faces is 18. 4

16. Identify the form and consider the validity or
invalidity of the following argument : 4x2

_ (i) fTomal is an Indian, then he is honest. He is
honet. So he is an Indian,

(if) Ifit is a cow, then it is a mammal.
It is not a cow, so it is not a mammal.
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[ Short Answer Type Questions ]

Answer any five of the following, taking |
at least two from each Group : L 4x3

GROUP —-A

17. Explain at which step or steps the follofwing
argument :..omrmts existential fallacy : 4

(i) It is true that No scientists are phllosophers

(ii) It is true that : Some scientists are not
phllosophers

(iii) tis false that : All scientists are philoséphers.

18. Explain why FESAPO is not a valid mood in
modern logic. | 4

19. Explain with example contrary terms and

contradictory terms. | 4
20. What is null class ? Explain with example. 4
21. Explain with example Singular proposition. 4
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GROUP - B

22. If 4, Bare true, and X, Y are false then identify
the truth value of the following proposition : 2 + 2

() (Av~B)(X>4)
(ii) Bo>(X-Y)

23. Use truth table to characterise the following as
tautology, self contradictory or contingent: 2 + 2
@ (pvg)or
(i) (pv~q)=(q-~q)

24. Determine the validity of the following using
truth table : 2+2

() A>(AvB)
~AD B/ .ADB

(i) PvQ/-.Ov~Q
25. What is material implication ? 4

26. What is the probability, if you take a card from a
deck of playing card, of getting either king or
queen of diamond ? N 4
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